	Buffer 7

Given:  0.80 M acetic acid


   solid sodium acetate trihydrate

Problem:  Prepare 100.0 mL of a buffer solution with a pH of 4.00 that has a concentration of each component within the range of 0.10 M to 1.00 M.  Use the lowest possible concentrations for the acid and conjugate base in the buffer.

SHOW ALL CALCULATIONS USED!
	Buffer 8

Given:  0.62 M hydrochloric acid


   solid sodium acetate trihydrate

Problem:  Prepare 100.0 mL of a buffer solution with a pH of 4.00 that has a concentration of each component within the range of 0.10 M to 1.00 M.  Use the lowest possible concentrations for the acid and conjugate base in the buffer.

SHOW ALL CALCULATIONS USED!

	Buffer 9

Given:  0.80 M acetic acid


   0.65 M sodium hydroxide

Problem:  Prepare 100.0 mL of a buffer solution with a pH of 4.00 that has a concentration of each component within the range of 0.10 M to 1.00 M.  Use the lowest possible concentrations for the acid and conjugate base in the buffer.

SHOW ALL CALCULATIONS USED!
	Buffer 10

Given:  0.80 M acetic acid


   solid sodium acetate trihydrate

Problem:  Prepare 100.0 mL of a buffer solution with a pH of 5.50 that has a concentration of each component within the range of 0.10 M to 1.00 M.  Use the lowest possible concentrations for the acid and conjugate base in the buffer.

SHOW ALL CALCULATIONS USED!

	Buffer 11

Given:  0.62 M hydrochloric acid


   solid sodium acetate trihydrate

Problem:  Prepare 100.0 mL of a buffer solution with a pH of 5.50 that has a concentration of each component within the range of 0.10 M to 1.00 M.  Use the lowest possible concentrations for the acid and conjugate base in the buffer.

SHOW ALL CALCULATIONS USED!
	


